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CBT Sample assessment model answers

Control accounts, journals and the banking system (CJBS)

Sample assessment 1

Task 1
[image: image2.jpg]‘The Journal

Amount

Capital 4780 v
Petty cash 180





Task 2
[image: image3.jpg](a) Show the journal entries needed in the general ledger to record the wages expense.

Account name Asmomnt,

£
[Wages expense M 2o

23648
[Wages control 23648

Debit

cat
L

{b) Show the journal entries needed in the general ledger to record the net wages paid to employees.

Amount
£

[Wages control v 14018
v

Account name





Task 3
[image: image4.jpg](a) Record the journal entries needed in the general ledger to write off the net amount and the VAT.

‘Amount
£

v 2320

Account name. Debit  Credit

recoverable debts

VAT

[Sales leager control

Itis important to understandth types of error that are disclosed by the tial balance and those that are not
{b) Show which of the errors below are, or are not, disclosed by the trial balance.

Errordisclosed  Error NOT
Errors by the disclosed by
trial balance _ the trial balance

Recording a bank payment for office expenses on the debit side of the
office furniture account,

Recording a payment for motor expenses in the bank account,the.
motor expenses account and the miscellaneous expenses account.
(lgnore VAT)

Recording a payment by cheque to a credit supplier in the bank account
and purchases ledger control account only.

Recording a cash payment for ravel expenses in the cash account
only.(Ignore VAT )





Task 3, continued

[image: image5.jpg](c) Show which error is an error of principle.

Errors

Recording a bank payment for office expenses on the debit side of the
office furniture account,

Recording a payment for motor expenses in the bank account,the.
motor expenses account and the miscellaneous expenses account.
(Ignore VAT )

Recording a payment by cheque to a credit supplier in the bank account
and purchases ledger control account only.

Recording a cash payment for ravel expenses in the cash account
only.(Ignore VAT )





Task 4
[image: image6.jpg](a) Record the journal entries needed in the general ledger to remove the incorrect entry.

JR—— Amout pepcrea
(Computer equipment 12565

(b) Record the journal entries needed in the general ledger to record the correct entry.

Amount
£

=

Account name. Debit  Credit

[Computer equipment





Task 5
[image: image7.jpg](a) What entry would be needed in the suspense account to balance the trial balance?

Accountname  Amount £

Suspense 81





[image: image8.jpg](b) Record the journal entries needed in the the general ledger to remove the incorrect entry made from
the cash-book.

Amount

Account name

Debit  Credit

{€) Record the journal entries needed in the the general ledger to record the correct entry that should
have been made from the cash-book.

Amount

Account name &

Debit  Credit

() Record the journal entries needed in the the general ledger to remove the suspense account balance.
arising from the error in the cash-book.

Amount

Account name 0

Debit  Credit

[suspense





Task 5, continued

[image: image9.jpg]{e) Show ONE reason for maintaining the journal.

To detect fraud.

To record goods bought on credit

To record goods sold on credit

To record non-regular ransactions.





Task 6
[image: image10.jpg]Commission received

‘Amount ‘Amount

Details 0 Details 0

Rent received 545

Rent received

oetass T oetais s

Commission received 545

Suspense

‘Amount
E

‘Amount
£

Balance bf 2,682| General repairs.

Cegalrens i

Legal fees

‘Amount ‘Amount
£ E
suspense 985

General repairs

‘Amount e e

£

suspense 3,867





Task 7
[image: image11.jpg]Trial Balance.

¥ captal 20774 20774
| Wotor veicles, 7119 a1
b Cash atbank 11923 12735
O 200 012
[ Sales ledger control 120542 120542
| Purchases leager control 60,224] 60224
[ VAT owing to HH Revenue and Customs 7.0 7915)
b office expenses 3218 3218
b sales 207,426 207757
> Purchases 99,250 98919
b Hotor expenses 4310 310
> other expenses 8622 8822
> Totals 296671 296671





Task 8
[image: image12.jpg]Cash-book

Details

Bo ven
INiche Products
lLongford Ltd
Burford Lt

Date
200

Cheque
Number

001231
001232
001233
001234

Details

(Courtney and Co
IGHL Lta

[Castie and Co
[Bank charges
[Balance cia

A[AlATATATATATATATATATA





Task 9
[image: image13.jpg](a) Identify the FOUR transactions that are included in the cash-book but missing from the bank
statement and complete the bank reconciliation statement below as at 27 September.

Bank reconciliation statement
as at 27 September 20XX

Balance as per bank statement

[kington Ltd

[Newton west

[Wellana Lta

[Roman pic

Total to subtract

Balance as per cash book





Task 9, continued

[image: image14.jpg]{b) Show which TWO security procedures below, Gold should use to ensure the security of receipts from
customers.

Security procedures

(Cash should be banked on a daily basis.

[Cheques should be banked on a monthly basis.

[Credit card sales vouchers should be shredded atthe
lend of each day.

[Cash received too [ate to bank should be stored in a
locked safe overnight.

[Cheques received too fate to bank should be posted
ftorough the bankes letter box





Task 10
[image: image15.jpg](a) Show whether each entry will be a debit or credit in the sales ledger control account in the general ledger.

Sals edger contol account
Detas Amount  popy

Balance owing rom crecit customers at 1.y 101,972

Woney recaied rom creait customers w0

Discouns allowed )

Goads sato crect customers 70419

Goads retumad b redt customers 2291






Task 10, continued
[image: image16.jpg](b) Show whether each entry will be a debit or credit in the purchases ledger control account in the general ledger.

Purchases ledger control account

Detas AmOU peny creat
Batance owing o crcitsuppliers a1 uly o926
Soumal dbito conectan eor 520
Goads retumasto ceat supplers 1129
Putchases rom creci supplers 40525
Payments made o crecit suplers 45763




[image: image17.jpg]() What should be the balance of the sales ledger control account in order for it to reconcile with the total
of the balances in the sales ledger?

Credit balance bid on 1 September of £65,050.

Debit balance bid on 1 September of £65,050.

Credit balance bid on 1 September of £67,500.

Debit balance bid on 1 September of £67,500





Task 10, continued
[image: image18.jpg](d) Show whether the following statements are true or false.

Statements True False

‘An aged rade receivables analysis is sentto
customers to inform them of the balance outstanding
on their account.

‘The purchases ledger control account enables a
business to identify how much is owing to credit
suppliers in total

“The total of the balances inthe purchases ledger
should reconcile with the balance of the sales
ledger control account





Task 11
[image: image19.jpg]VATcontrol

oeais T eais T
slance o - owng fom HIRC._ 13,14 [salee EX
Furases o220 [Furnases s 2
Sas e 1779 | [caehsas (D
Petty cash 98 | [VAT refund 7,131
recoerate gete 550] [oicssqupment=ars o





Task 11, continued
[image: image20.jpg](b) Does the balance on the VAT control account in part (a) also show that £7,710 is owing from
HM Revenue and Customs?

Yes

(c) Show which ONE of the following sentences is true by clicking on the appropriate sentence.
You can remove your selection by clicking on the sentence again.

The VAT control accountis usedto record the VAT amount of ransactions and to help.
prepare the VAT retum

The VAT control accountis used1o record the VAT amount of ransactions but has no
connection with the VAT return,





Task 12
[image: image21.png](a) Show the most appropriate form of payment for each transaction below by clicking on a left hand box
‘and then the appropriate right hand box. You can select each right hand box once only and can
remove aline by clicking on it.

Transactions Forms of payment
‘A quartery paymen of varying amounts for heating
and lighting. Creditcard

Apayment of £2,115 to o a credit supplier.

Cash
Amonthly payment of £300 for insurance. Standing order

A payment of £220,000 to buy new office premises. heque
Apayment of £9.80 to buy tea and coffee. Direct debit

Anintemet payment of £595 to buy offce furniture. P





Task 12, continued
[image: image22.jpg](b) Show whether the following statements are true or false.

Statements True False
Purchases made using using a debit card will resultin funds being
immediately transferred from Gold's bank account

The clearing system may resultin banked funds not being available for Gold
to withraw immediately.

Before accepting a payment by cheque from a new customer, Gold should
askthe the bankifthere are sufficient funds in the customers bank account,

() Complete the following sentences.

Wit sat i alow ban customers toTspos cooh and roaues e bk aer oo [l

Orgaisatons shouahave 3 ocumentetenton polcy o [srurs Gocumets 7 soreor s euredpeog ot Il

Banking documents that should be retained include [statements of account rom the bank.
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